

$$Ans1 = \begin{bmatrix} .1 = \left(\cos(105^\circ) = \frac{\sqrt{2}}{4} - \frac{\sqrt{2}\sqrt{3}}{4} \right) & .2 = \left(\sin\left(\frac{5\pi}{12}\right) = \frac{\sqrt{2}}{4} + \frac{\sqrt{2}\sqrt{3}}{4} \right) \\ .3 = (\tan(15^\circ) = 2 - \sqrt{3}) & .4 = \left(\cot\left(\frac{23\pi}{12}\right) = -2 - \sqrt{3} \right) \\ .5 = \left(\sin(-255^\circ) = -\frac{\sqrt{2}}{4} + \frac{\sqrt{2}\sqrt{3}}{4} \right) & .6 = (\sec(255^\circ) = -\sqrt{2}\sqrt{3} - \sqrt{2}) \\ .7 = \left(\cos\left(-\frac{19\pi}{12}\right) = \frac{\sqrt{2}\sqrt{3}}{4} - \frac{\sqrt{2}}{4} \right) & .8 = (\csc(-75^\circ) = -\sqrt{2}\sqrt{3} + \sqrt{2}) \end{bmatrix}$$

⌋
⌋
M
a
t
h
@
M
U
T
⌋
⌋

$$Ans2 = \begin{bmatrix} .1 = \left(\frac{2 \tan(15^\circ)}{1 - \tan^2(15^\circ)} = \tan(30^\circ) = \frac{\sqrt{3}}{3} \right) & .2 = \left(\cos^2(22.5^\circ) - \sin^2(22.5^\circ) = \cos(45^\circ) = \frac{\sqrt{2}}{2} \right) \\ .3 = \left(2 \cos\left(\frac{\pi}{8}\right)^2 - 1 = \cos\left(\frac{\pi}{4}\right) = \frac{\sqrt{2}}{2} \right) & .4 = \left(\sin(18^\circ) \cos(12^\circ) + \cos(18^\circ) \sin(12^\circ) = \sin(30^\circ) = \frac{1}{2} \right) \\ .5 = \left(\frac{\tan\left(\frac{\pi}{15}\right) + \tan\left(\frac{11\pi}{60}\right)}{1 - \tan\left(\frac{\pi}{15}\right) \tan\left(\frac{11\pi}{60}\right)} = \tan\left(\frac{\pi}{4}\right) = 1 \right) & .6 = \left(2 \sin(15^\circ) \cos(15^\circ) = \sin(30^\circ) = \frac{1}{2} \right) \\ .7 = \left(1 - 2 \sin\left(\frac{\pi}{12}\right)^2 = \cos\left(\frac{\pi}{6}\right) = \frac{\sqrt{3}}{2} \right) & .8 = (\cos(105^\circ) \cos(15^\circ) + \sin(105^\circ) \sin(15^\circ) = (\cos(90^\circ) = 0)) \\ .9 = \left(\frac{\tan\left(\frac{7\pi}{18}\right) - \tan\left(\frac{\pi}{18}\right)}{1 + \tan\left(\frac{7\pi}{18}\right) \tan\left(\frac{\pi}{18}\right)} = \tan\left(\frac{\pi}{3}\right) = \sqrt{3} \right) & .10 = \left(\cos\left(\frac{\pi}{9}\right) \cos\left(\frac{2\pi}{9}\right) - \sin\left(\frac{\pi}{9}\right) \sin\left(\frac{2\pi}{9}\right) = \cos\left(\frac{\pi}{3}\right) = \frac{1}{2} \right) \end{bmatrix}$$

⌋
⌋
⌋
⌋
M
a
t
h
@
M
U
T
⌋
⌋
⌋
⌋

$$Ans3 = \begin{bmatrix} .1 = \left(\cos(\alpha) = \frac{\sqrt{65}}{9} \right) & .2 = \left(\sin(\beta) = -\frac{\sqrt{55}}{8} \right) \\ .3 = \left(\tan(\alpha) = \frac{4\sqrt{65}}{65} \right) & .4 = \left(\sin(\alpha - \beta) = -\frac{1}{6} + \frac{\sqrt{65}\sqrt{55}}{72} \right) \\ .5 = \left(\cos(\beta - \alpha) = -\frac{\sqrt{65}}{24} - \frac{\sqrt{55}}{18} \right) & .6 = \left(\tan(\alpha + \beta) = -\frac{256\sqrt{5}\sqrt{13}}{295} - \frac{243\sqrt{5}\sqrt{11}}{295} \right) \\ .7 = \left(\sin(2\alpha) = \frac{8\sqrt{65}}{81} \right) & .8 = \left(\tan(2\beta) = -\frac{3\sqrt{55}}{23} \right) \end{bmatrix}$$

$$Ans4 = \begin{bmatrix} .1 = \left(\cos(\alpha) = \frac{\sqrt{39}}{8} \right) & .2 = \left(\sin(\beta) = \frac{\sqrt{11}}{6} \right) \\ .3 = \left(\tan(\beta) = -\frac{\sqrt{11}}{5} \right) & .4 = \left(\sin(\alpha - \beta) = \frac{25}{48} - \frac{\sqrt{39}\sqrt{11}}{48} \right) \\ .5 = \left(\cos(\beta - \alpha) = -\frac{5\sqrt{39}}{48} - \frac{5\sqrt{11}}{48} \right) & .6 = \left(\tan(\alpha + \beta) = -\frac{9\sqrt{39}}{35} - \frac{16\sqrt{11}}{35} \right) \\ .7 = \left(\sin(2\beta) = -\frac{5\sqrt{11}}{18} \right) & .8 = \left(\tan(2\alpha) = -\frac{5\sqrt{39}}{7} \right) \end{bmatrix}$$

⌋
⌋
M
a
t
h
@
M
U
T
⌋
⌋

$$Ans5 = (\cos(20^\circ) = (\text{Sqrt}(0.8830) = 0.940)),$$

⌋
⌋
M
U
T
⌋

$$Ans6 = (\sin(41^\circ) = (\text{Sqrt}(0.4305) = 0.656)),$$

⌋
⌋
M
U
T
⌋

$$Ans1 = \left[\begin{array}{l} .1 = \left(\sin\left(\frac{\pi}{12}\right) = \frac{\sqrt{2}\sqrt{3} - \sqrt{2}}{4} \right) \quad .2 = \left(\cos(105^\circ) = \frac{\sqrt{2}}{4} - \frac{\sqrt{2}\sqrt{3}}{4} \right) \\ .3 = (\tan(75^\circ) = 2 + \sqrt{3}) \quad .4 = (\sec(-105^\circ) = -\sqrt{2}\sqrt{3} - \sqrt{2}) \\ .5 = \left(\csc\left(-\frac{23\pi}{12}\right) = \sqrt{2}\sqrt{3} + \sqrt{2} \right) \quad .6 = \left(\cos(165^\circ) = -\frac{\sqrt{2}}{4} - \frac{\sqrt{2}\sqrt{3}}{4} \right) \\ .7 = \left(\tan\left(-\frac{11\pi}{12}\right) = 2 - \sqrt{3} \right) \quad .8 = \left(\sin\left(-\frac{5\pi}{12}\right) = -\frac{\sqrt{2}}{4} - \frac{\sqrt{2}\sqrt{3}}{4} \right) \end{array} \right], \left[\begin{array}{c} \frac{!}{!} \\ M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \\ \frac{!}{!} \\ ! \end{array} \right]$$

$$Ans2 = \left[\begin{array}{l} .1 = \left(\sin\left(\frac{11\pi}{36}\right)\cos\left(\frac{\pi}{18}\right) - \cos\left(\frac{11\pi}{36}\right)\sin\left(\frac{\pi}{18}\right) = \left(\sin\left(\frac{\pi}{4}\right) = \frac{\sqrt{2}}{2} \right) \quad .2 = \left(1 - 2\sin\left(\frac{\pi}{8}\right)^2 = \left(\cos\left(\frac{\pi}{4}\right) = \frac{\sqrt{2}}{2} \right) \right) \\ .3 = \left(\frac{\tan(10^\circ) + \tan(20^\circ)}{1 - \tan(10^\circ)\tan(20^\circ)} = \left(\tan(30^\circ) = \frac{\sqrt{3}}{3} \right) \right) \quad .4 = \left(2\cos(22.5^\circ)^2 - 1 = \left(\cos(45^\circ) = \frac{\sqrt{2}}{2} \right) \right) \\ .5 = \left(\cos\left(\frac{2\pi}{9}\right)\cos\left(\frac{\pi}{18}\right) + \sin\left(\frac{2\pi}{9}\right)\sin\left(\frac{\pi}{18}\right) = \left(\cos\left(\frac{\pi}{6}\right) = \frac{\sqrt{3}}{2} \right) \right) \quad .6 = \left(2\sin(15^\circ)\cos(15^\circ) = \left(\sin(30^\circ) = \frac{1}{2} \right) \right) \\ .7 = \left(\cos(30^\circ)\cos(15^\circ) - \sin(30^\circ)\sin(15^\circ) = \left(\cos(45^\circ) = \frac{\sqrt{2}}{2} \right) \right) \quad .8 = \left(\cos\left(\frac{\pi}{12}\right)^2 - \sin\left(\frac{\pi}{12}\right)^2 = \left(\cos\left(\frac{\pi}{6}\right) = \frac{\sqrt{3}}{2} \right) \right) \\ .9 = \left(\frac{2\tan\left(\frac{\pi}{8}\right)}{1 - \tan\left(\frac{\pi}{8}\right)^2} = \left(\tan\left(\frac{\pi}{4}\right) = \tan\left(\frac{\pi}{4}\right) \right) \right) \quad .10 = \left(\frac{\tan(72^\circ) - \tan(12^\circ)}{1 + \tan(72^\circ)\tan(12^\circ)} = \left(\tan(60^\circ) = \sqrt{3} \right) \right) \end{array} \right], \left[\begin{array}{c} \frac{!}{!} \\ ! \\ \frac{!}{!} \\ M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \\ \frac{!}{!} \\ ! \\ \frac{!}{!} \\ ! \\ \frac{!}{!} \\ ! \end{array} \right]$$

$$Ans3 = \left[\begin{array}{l} .1 = \left(\sin(\alpha) = \frac{2\sqrt{10}}{7} \right) \quad .2 = \left(\cos(\beta) = \frac{\sqrt{65}}{9} \right) \\ .3 = \left(\tan(\alpha) = \frac{2\sqrt{10}}{3} \right) \quad .4 = \left(\sin(\alpha - \beta) = \frac{2\sqrt{10}\sqrt{65} + 4}{63} \right) \\ .5 = \left(\cos(\alpha + \beta) = \frac{\sqrt{65} + 8\sqrt{10}}{21 + 63} \right) \quad .6 = \left(\tan(\beta - \alpha) = \frac{196\sqrt{5}\sqrt{13} + 486\sqrt{2}\sqrt{5}}{55} \right) \\ .7 = \left(\cos(2\beta) = \frac{49}{81} \right) \quad .8 = \left(\tan(2\alpha) = -\frac{12\sqrt{10}}{31} \right) \end{array} \right], \quad Ans4 = \left[\begin{array}{l} .1 = \left(\sin(\alpha) = -\frac{\sqrt{3}}{2} \right) \quad .2 = \left(\cos(\beta) = \frac{-4}{5} \right) \\ .3 = (\tan(\alpha) = \sqrt{3}) \quad .4 = \left(\sin(\alpha + \beta) = \frac{2\sqrt{3}}{5} - \frac{3}{10} \right) \\ .5 = \left(\cos(\alpha - \beta) = \frac{2}{5} - \frac{3\sqrt{3}}{10} \right) \quad .6 = \left(\tan(\beta - \alpha) = \frac{48}{11} + \frac{25\sqrt{3}}{11} \right) \\ .7 = \left(\sin(2\beta) = \frac{-24}{25} \right) \quad .8 = (\tan(2\alpha) = -\sqrt{3}) \end{array} \right], \left[\begin{array}{c} \frac{!}{!} \\ ! \\ M \\ a \\ t \\ h \\ @ \\ M \\ U \\ T \\ \frac{!}{!} \\ ! \end{array} \right]$$

$$Ans5 = (\cos(40^\circ) = (\text{Sqrt}(0.5870) = 0.766)), \left[\begin{array}{c} M \\ U \\ T \end{array} \right]$$

$$Ans6 = (\sin(3^\circ) = (\text{Sqrt}(0.0025) = 0.052)), \left[\begin{array}{c} M \\ U \\ T \end{array} \right]$$

